University of Central Florida

School of Electrical Engineering & Computer Science

 CGS3763: Operating Systems Concepts
Fall 2013
Homework 2
Due  October 18th, 2013 by 11:59 p.m. (Submit on Webcourses)
Problems 1-4 are based on the following table. 

Table 1. Processes to be scheduled.

	Process
	Arrival Time
	Burst Time

	P1
	0
	6

	P2
	2
	3

	P3
	4
	8

	P4
	6
	5


Note: both arrival and CPU burst time are given in milliseconds.
1. [12 points] When using FCFS scheduling algorithm, please list the waiting time for each process, calculate the average waiting time and show the schedule in Gantt chart. 
(You can use the following template for Gantt chart, or draw Gantt chart by hand or other software and paste the image below.) 
	P
	P
	P
	P



2. [12 points] When using SJF(preemptive) scheduling algorithm, please list the waiting time for each process, calculate the average waiting time and show the schedule in Gantt chart.
3. [12 points] When using SJF(non-preemptive) scheduling algorithm, please list the waiting time for each process, calculate the average waiting time and show the schedule in Gantt chart.
4. [12 points] When using Round-Robin scheduling algorithm, please list the waiting time for each process, calculate the average waiting time and show the schedule in Gantt chart. Assume that the time quantum is 5 milliseconds.
5. [20 points] Answer the following questions about I/O operations: 

a) Where is the I/O request queue?

b) Give the name of the program that produces the IORBs.

c) Give the name of the program that consumes the IORBs.

d) When the I/O operation is completed how does the OS identifies the process that initiated the I/O request?

e) Give the names of three of the fields of the IORB. 

6.  [10 points] What are the effects of a quantum ( q )  to small or to large when using the round robin scheduling algorithm.

7.- [22 points] Using the producer consumer approach describe (using pseudo code) how the IORB are produce  by the OS and consume by the device handler.
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